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'PROBLEM 7-18 Variable Costing Income Statements; Sales Constant, Production Varies:

Lean Production (LO1, LO2, LO3, L04)

“This makes no sense at all,” said Bill Sharp, president of Essex Company. “We sold the same
‘number of units this year as we did last year, yet our profits have more than doubled. Who made the
goof—the computer or the people who operate it?” The statements to which M. Sharp was refer-
ing are shown below (absorption costing basis):
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‘The statements above show the results of the first two years of operation. In the first year, the
‘company produced and sold 20,000 units; in the second year, the company again sold 20,000 units,
but it increased production as shown below:
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Essex Company applies fixed manufacturing overhead costs (o its only product on
ach year's production. Thus. a new fixed manufacturing overhead rate is computed
Requred:

Compute the unit product cost for cach year under:

. Absorption costing.

b, Variable costing.
2. Prepare a contribution format variable costing income statement for each year.

3. Reconcile the variable costing and absorption costing net operating income

4. Explain t0 the president why. under absorption costing, the net operating i
was higher than the net operating income for Year 1, although the same lll*‘_

sold in each year.
“a. Explain how operations would have differed in Year 2 if the company

Lean Production and ending inventories had been eliminated.
 If Lean Production had been used during Year 2, what would the comy
income have been under absorption costing? Explain the reason for f

is income figure and the figure reported by the company in the s





